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Note:
4) All Questions are compulsory.
2) Each question carries 15 marks.
3) Draw neat diagram wherever necessary.

Lid

Total Marks:75

Q.No. 1)

Q.No. 2)

Q.No. 3)

Q.No. 4)

Q.No. 5)

Attempt any two from the following.

A) Explain the sectoral composition in India.
B) Describe the problem of poverty in India.
C) “India as emerging economy”--Discuss.

Attempt any two from the following.

A) Bring out new agriculture strategy in India.

B) Explain the issue of food security in India.

C) What are the measures to improve agricultural productivity in
India?

Attempt any two from the following.

A) What is industrial structure in India?
B) Bring out the process and limitations of disinvestment policy.
C) Explain the significance of Small Scale Industry (SSI).

Attempt any two from the following.

A) What are the measures to reduce inflation in India?
B) Examine a role of rural financial institutes in India.
C) Discuss the Special Economic Zones (SEZ).

Attempt any two from the following.

A) Examine the nature of unemployment in India.
B) Describe a role of agriculture in India,

C) Explain the industrial policy 1991.
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